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COMPUTER SCIENCE/COMPUTER
APPLICATION/INFORMATION TECHNOLOGY
(Honours Generic/Regular)
For Honours Generic
Answer the Questions from any one Option.

OPTION - A : ;
( Programming in Visual Basic/Gambas )
Paper : CSC-HG-4016
OPTION-B
( Informatzon Security and Cyber Laws)
Paper : CSC-HG-4026
OPTION-C

( Web and E-commerce Technologies)
Paper : CSC-HG-4036

OPTION - D
( Computer System Architecture)
Paper : CSC-HG-4046 /CSC-RC-4016

OPTION -E
( Introduction to Database Management Systems )
Paper : CSC-HG-4056/TCA-HG/RC-4016/TIT-RC 4016
Full Marks : 60
Time : Three hours
The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.
(ExSIeT] @elat SPrTRe Tes [@R91)
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~ OPTION-A

( Programming in Visual Basic/Gambas)

Paper : CSC-HG-4016
1. Answer the following questions : 1x7=7
(a) VB is a programming
"~ language. :

(i) = Procedural

(ii) Object-oriented
(iii) Even driven
(iv) None of the above

(b) In VB a variable name cannot be more
than _ characters.

(i 255"
(i) 300
(i) 125

. fiv}. 400

(Fill in the blank)

(c) IDE stands for
(i) International Development

Environment

(i) Integrated Development
Environment

(ii) Integrated Deployment
Environment

(iv) Information Delayed Environment
(Choose the correct answer)
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(Fill in the blank)

(d) function converts a
number to a string.

) str)
(ii) ucaset)
(i) val()
(iv) None of the above
(Fill in the blank)

(e) .Co.nstant variable is fixed size of value.

(True/False)

() The file extension of a project file is
.vbp. | (True/ False)
(g) = The function procedures are by default
private. (True/False)

2. Answer the following questions : 2x4=8

{a} Define scope of a variable. What is the

use of Boolean type variable? Give an
example.

(b) What is dynamic array? Write its
syntax.

(c) How to change font size and font colour
in VB? '
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(d) Write the difference between sub
procedure and function procedure.

3. Answer any three of the following
questions : - 5x3=15

(a) Explain the properties, events related

and method associated with button, list:

box and combo box in VB.

(b) Write the dlifference between private and
public sub procedure.

(c) Briefly explain data types of support in
VB.

(d) What is FORM? How to customize a
FORM?

(e) What is the usage of checkbox and

image box controls? Explain with an

example.

4. Answer any three of the following
questions : 3x10=30

(a). Write a VB program to accept student
details such as name, department, total
marks and validate the input data and
calculate the percentage and division.
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(b)

(9

(d)

(e)

()

Explain the components of“IDE.

What is ActiveX Data Objects(ADO)?
Explain different tools used to
implement ADO.

Explain the usage of different FORM

- events.

Write a VB program to find out the
largest of given three integer number.

Write short notes on the following :
(i) MDI Form

(it) Crystal and Data Report.
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OPTION -B

(Information Security and Cyber Laws)

Paper : CSC-HG-4026

Answer the following questions :
(@) What do you mean by cyber securi_ty?
(b) What is IP address ?

(c) What is digital signature ?

(d} : .]jeﬁ;{el 1P spoéﬁng. |

(e) What is protocol ?

(/)  Which one is an apphcatlon layer

protocol ?
(i uHD
(i) TCP
(i) IR
(iv) HTTP
(g9 What are cyber laws ?

Answer the following questions:

(@) What is information security ?
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1x7=7 |

2x4=8

w

(b) What do you mean by threats and
attacks in cyber ? '

(¢) How does law differ from ethics ?

(d) Why is information security
important in today’s life ?

Answer any three of the following
questions : : 5x3=15
(a) Explain different types of . cyber

attacks.

(b) What-do you mean by data encryptior:

and decryption?
(c) What are the objectives of cyber laws ?

(d) What are different crimes happenmg
in social media ?

(e) Explain how software based data
security differs from physical data

security. :
Answer any three of the following
questions : 10x3=30

(@) Explain briefly about various applica-
- tions of information = security and
threats in protecting important data.
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(b) Explain the following terms : | ‘ OPTION-C

() Encoding ' ( Web and E-commerce Technologies )

(W) Decryption Paper : CSC-HG-4036

(iii) Hashing techniques F il

: : 1. Answer the following questions : 1x%=T7

(c) Explain about the processing of secure ; ;

Information with suitable example. (@) What is E—comrqerce ?
(d) What do you mean by Firewall? (b) What is Internet?

Explain, its functions in E-commerce. () Name any two network deVic_:es.

(¢) What is the primary goal of

o i e an (d) What is Internet Service Provider (ISP)?

' ‘ organization ? How do you apply if to (e) What is Electronic Data Interchange
protect data securely ? (EDI) ?
() Write short notes on any two of the () Write any two types of electronic
following EE ey payment system. ;

(i Software piracy
i) E-Wallet

(g) What is digital signature ?

(i) S i o 2. Answer the following questions:  2x4=8
iii} Security protocols . :

: : (a) Name any two computer crimes.
fiv) Black Box Testing. :

(b) Differentiate between LAN and MAN.,

(c) Write two applications of EDI.

(d) What are authorization and
authentication in Internet security ?
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3. Answer any three questions from the
following : 7 5x3=15

(@)

(b)

()

(@)

(e)

Describe the technical components of
E-commerce’ technologies.

Write a short note on credit card
system.

What is payment gateway ? What is its

role in electronic payment services ?

What is computer virus ? How does it
spread ? How can a computer system
be protected from computer virus ?

Describe- secret key cryptography and -

public key encryption. ;

4. Answer any three questidn_s from the
following : 10x3=30

(@)
®)

(c)

Explain x}ariou_s types of E-commerce.

Discuss the problems and issues
related to internet based E-commerce.

How does electronic data interchange
work ? Explain. :
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¥

(d) Discuss the issues related to enabling
. technologies for SCM and E-commerce.

(e) Discuss the strategies for developing
electronic commerce web sites.

() Explain the E-cycle - of Internet
marketing. :
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_ OPTION-D ; | () Full form of DMA is
( Computer System Architecture) DMA ¥ oicf o] 7

: e ~RC-4016 -
. Paper : CSC-HG-4046/CSC-RC-4 (9) Full form of MAR is

1. Fill in the blanks : - 1x7=7 MAR T Qicf%?f =
Q! D2 7l Bl ¢
(@) In Boolean algebra, A.(B+C) =

2. Define the following terms : 2x4=8

Boolean algebra © A.(B+C) = A]es feral g

1 S (@) Combinational circuit
b) In Boolean alge ra,]AJrBi: GaabEn _ .
(b) & 4 (b) Register
. Boolean algebra © (A + B)= | (c) Bus system
fc) A b“__ is a sequential circuit which (d) Micro—operation
consists of single binary bit. : :
L a . , 3. Answer any three of the following
sequential circuit ® €bl binary ‘ questipns . ’ ~_ 5x3=15
b Afles (2 A | | ,_ Ficwtear fofab! emsiq ©eq foral 3
(@) i r is also lknewn as. a.data (a) Simplify the Boolean function
selector. :
A B, ¢ D)= N {uilipi8 12 13,14, 15)

<+ data selector (I 3H | _
- Boolean function

(e) is a special type of sequential
circuit used to count the pulse. : F (A, B,C, D)= Z(O, e 12 13 14 15)
Pulse Slfd0s1 929 (@A sequential (S| FeT 57 | |
circuit & _ GG | ‘ '
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(b). Explain how floating: pomt numbers
i are represented.

Floating point number @R (=& Biao
T =T IR P ‘

fc) Briefly explain instruction cycle.
Instruction cycle 53 iR F4 |

(d) Explain microprogrammed control. -

Microprogrammed control Jjif 4 |

fe) What is addressing mode ? Explain.

Addressing mode 2 il 591 |

Answer any three of the following

questions : 10x3=30

Rz ot e Bea foral ¢

(a) Draw the logic diagram and explain
working of 8 x 1 multiplexer.

8 x 1 multiplexer F &&= b@ WW
TR TG 1R A | -

(b} Write a brief description of computer
registers.

Computer register @S9 13‘?_[ TR=el ol |
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| (d)

! ()

What is 1nstruct1on format ? Explain
zero-address, one-address, two-
address and three-address instruction
formats.

Instructlon format 2 Zero- address,
one- address two- address and three-
address instruction format A= P |

What are the modes of data transfer’J
Explain each.

Data transfer ¥ mode @R &2 droaE
Jefelt forzmt |

Describe arithmetic and logical micro-
operations.

Arithmetic oI logical micro-operation

el o |

Write short notes onl -

B (G foralt g

(i) Assembly language
(i) 1/0 interface o

Sx2=10
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- OPTION -E

{Intrbduction to Database Management Systems )

Paper : CSC-HG-4056
TCA-HG/RC-4016
TIT-RC-4016 ,
1. Answer the following questions as directed :
' <=7
wore Al el oISt Tes fovdl ¢
(a) A is a collection of interrelated

(b)

(¢

data and a set of programs to access
those data.
(20 TG S FTT I (3
GUZ access TAl ATATE GBI (AliG |

(357) 21Z 77 1)

command is used to delete or

‘remove a table in database.

e ThiERe AT (6 99 delete
Eill Wﬂ TR T |
: (Tl 212 97 F9)

The  model uses a collection of

 tables to represent both data and the

relationships among those data.

MWW@WWWW
T A | (3T 212 797 F9)
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(d)

(9)
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Select is an operator in relational
algebra. (True/False)

Select (202 relational algebra © Bl
(351/ 137=1)
A foreign key cannot contain NULL
value. (True/ False)
4ol foreign key ® NULL i i3
(AR | (7751 13=1)
In one-to-one mapping cardinality, an
entity in A is associated with at most
one entlty in B, and vice-versa.
(True/False)
One-to-one mapping cardinality ©, A
4! 9Ol entity, B I ifEs 96 entity =
(IS Tfew 22 #Aie, % [sifioen |
- (/=)
The participation of an entity set E in
a relationship set R is said to be
partial if every entity in E participates

in at least one relationship in R.
(True/ False)

@B relationship set R , @bl entity set,
£ 9 participation 3/ (Rl 27 partial 3
[ 9 afSil entity R® owws @5l 55dw
wieHelse e | (3i51/ f3%t)
12/3/4/5,

operator |
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Define the terms : S 2x4=8
cesl il o
(@) Database

(b) DBMS

g o

(d) ERD

Answer any three of the following
questions : DE8=15

Ricpleal fefo! e Teq fordl ¢
(@) What is data independence ? Briefly
~ explain the logical data independence

property of DBMS.

Data independence % (dits1? DBMS 3
logical data’ independence I & 5
G 4 |

‘(b) Explain the basic co_ncépts of entity-
relationship data model. :
Entity-relationship data model I I
YN IR <] |

- (c) Briefly discuss the fundamental

operations in relational algebra.
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|

Relational algebra © fundamentai
operations I R GYF WAL 91|

(d) How to convert an ER diagram to '
relational schema ? ‘

ER diagram <5/ relational schema &
(TP oo SR 21F 2 '

(e} Briefly explainr the advantages of
DBMS.

DBMS aﬁmWWWl

4. Answer any three of the following
questions : 10x3=30

e fefai! s Tes o ¢

(a) Explain the DBMS architecture with
suitable diagram.

Tqe diagram 9 TS  DBMS
architecture Ty T4 | !

(b} Discuss the relational data modei.

Relational data 'modei 3 R =
A ' ' '

(c) Explain the concept of primary key
with suitable example. How is it
different from candidate key?
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- (d)

(e)

@ﬁ{@ Tnieadls Ce primary key 3 4=EIC0!

et 911 Candidate key 3 o1 T (FET

725 ?

What is normalization‘ in DBMS?
Describe 1NF, 2NF and 3NF with
suitable examples.

DBMS % normalization &2 CRRw
E7Za9s (ice INF, 2NF SIS 3NF 3ot 541 |

Write the differences between :
siefey forall ¢

(a) Entity set and relati_onship set
(b) -Stroﬁg entity and weak ‘entity
(c) Simple and composite attribute
() Single-valued and multi-valued

attribute

What is a foreign key? How is it

different from primary key ?

Foreign keyﬁ?? % Primary keyd *&l

(AT AT 2
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